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EEpENS 32,9802 * 1% » 252 825
— Aol
3,8302 * 25AI12 » 19 « 12 1,149
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01 AFR22/H| 129,774 5,905 123,869
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- 44E YRFT JISRE
500,0008 * 14! 500
— H44E YRR HALRE Y
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— 42EYHE =X
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O Sst Hgd % 10,000,000& * 14 10,000
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O syt o
31,0003 * 135004 * 123 50,220
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100,000,000 = 14 100,000
2 70,000
s 30,000
03 Al&=HH 7,000 0 7,000
O 21 sOHE d2s+ Y 20U
1,429,000,000& = 0.4898% 7,000
= 4,600
s 2,400
et 2l 2 SOE MEES L (HE) 2,215,000 1,625,000 590,000
& 1,772,000
= 443,000
401 Al HI LS HHI 2,215,000 1,625,000 590,000
= 1,772,000
o 443,000
01 Al&HI 2,007,026 1,419,889 587,137
O o2 2 sSHEYESTIHE AL
2,007,026,000& = 14| 2,007,026
& 1,605,621
= 401,405
02 Zcltl 200,000 200,000 0
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200,000,000 * 14! 200,000
= 160,000
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] 2,215,000, 000& *0. 36% 7,974
& 6,379
o 1,595
MHEX SEES AL N 3,300,000 0 3,300,000
& 3,300,000
ANENExEd NS 3,300,000 0 3,300,000
= 3,300,000
ofgy deradel SYEs-E ALXH 3,300,000 0 3,300,000
& 3,300,000
401 AlEHIL 2] 3,300,000 0 3,300,000
= 3,300,000
01 A&l 3,188,120 0 3,188,120
O HYLEHMHER] SEE=TER AL
3,188,120,000& * 14 3,188,120
= 3,188,120
02 Zcltl 100,000 0 100,000
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100,000,000& * 14! 100,000
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2 11,880
st+c 22l 2,970,692 5,066,888 £2,096, 196
= 1,765,000
= 63,280
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= 1,765,000
< 63,280
7 2 937,150
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= 440,000
= 28,665
403 RXSHS X0 468,665 1,363,000 894,335
= 440,000
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TOIBSOICHECH AL b 468,665 1,363,000 894,335
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468,665,0008 * 14! 468,665
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CHE St=Hel® &XI(2H) 222,597 701,000 £478,403
= 209,000
= 13,597
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= 141,000
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O ot=xcld &X1 SAtHI
148,200,000& * 14 148,200
= 141,000
& 7,200
St &l JI2HE > (HE) 300,000 0 300,000
401 Al&HI YR OHYI 300,000 0 300,000
01 Al&H| 300,000 0 300,000
O ot=S&Hl JI2H& = (HE) 4
00,000,000 * 14 300,000
ot=% HES 150,000 201,440 A51,440
401 Al HI LSO 150,000 201,440 A51,440
01 Al&HI 147,840 200,000 252,160
O otk JHE= S At
29,568,000& * 5 A 147,840
03 Al =il 2,160 1,440 720
O ot=& HE= ZSAH 20|
300,000,000& = 0.72% 2,160
otk =4 30,000 50,000 A20,000
401 A &EHIL 201 30,000 50,000 220,000
01 Al&HI 30,000 50,000 220,000
O o=k &4 SAtH 200,000& = 150 30,000
ot 3 B 10,150 10,000 150
401 Al&HI YL S OHYI 10,150 10,000 150
01 Al&H| 10,150 10,000 150
O o=k §2 2= 290,000& * 35012 10,150
2 AN s E OESots== JHI(=4]) 141,000 154,000 A 13,000
= 99,000
= 42,000
401 Al&HI LS04I 141,000 154,000 A 13,000
= 99,000
i 42,000
01 Al&H| 139,984 152,891 A 12,907
O sHE Ot ol=% EHl SAM
139,984,000& » 14 139,984
= 99,000
= 40,984
03 AIZ220i4 1,016 1,109 A93
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141,000,000 * 0.72% 1,016
e WM s0E OtScts=< &HI(34]) 343,000 0 343,000
= 240,000
= 103,000
401 AIEHIZL 20U 343,000 0 343,000
= 240,000
= 103,000
01 Al£HI 340,530 0 340,530
O s E OtSot=T |l SAH|
340,530,000& = 14| 340,530
= 240,000
= 100,530
03 Al£=R0idl 2,470 0 2,470
O s E OtSot=% EHl SA 20l
343,000,000& = 0.72% 2,470
St==2t{ BTL Y UHE(=8I) 606,000 0 606,000
= 424,000
= 182,000
401 AIEHIZL 20U 606,000 0 606,000
= 424,000
= 182,000
01 AlZHI 606,000 0 606,000
O ot==2t)1 BTL 2= K=
606,000,000& = 14| 606,000
= 424,000
= 182,000
sHE OtSot=% HESA 100,000 0 100,000
401 AIEHIZ 208 100,000 0 100,000
01 AlZHI 99,100 0 99,100
O s0& 0t26t== WA S A (1000 2)
99,100,000& = 14l 99,100
03 A2 204bl 900 0 900
O sHE OtSot==< HE S A FOHHI
100,000,000 * 0.90% 900
XY 2de=s+ 20,000 0 20,000
401 AlEHIZ 208 20,000 0 20,000
01 A&l 20,000 0 20,000
O ==X19 ==+ 20,000,000& =+ 1A 20,000
ot=& 29 205,262 273,448 A68,186
S3ot==Held JisdH 19,362 29,043 AN9,681
207 A 1OH 2| 19,362 29,043 A9,681
01 g21E3HI 19,362 29,043 A9,681
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9,681,000& * 2002 19,362
SSotHelE /ER2E 120,000 178,000 58,000
402 2I2H X201 120,000 178,000 58,000
02 CIZ2+CHEM A I 120,000 178,000 A58,000
O 33ot=XHel& /22l
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ot AEE 22l 65,900 66,405 A505
201 Let23y| 60,900 65,445 A4, 545
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100,000& * 244 & 2,400
O ot=ZAd E4 =2
60,0002 * 13| * 244 A 1,440
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01 3LHA b 5,000 960 4,040
O ot=EAd &8 ¢l 5,000,000 * 14 5,000
=) s 120,125 1,061,292 A941,167
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201 LBty 65,125 66,368 AN1,243
01 AbR22lH| 5,125 15,290 A 10,165
O get=EH| 1,000
— WEs AEAUA 222 S
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O =&l 1,225
~ 2Leexd Iz
7,000& » 5% » 35 1,225
02 5234l 60,000 51,078 8,922
O 3322 % HMA 40,000




SN AT A A
HE: 2N
ol 2P M2 (e @
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 gggi; Rz
P ENEEEREEEE
40,000,008 * 14! 40,000
O ANEEH S 20,000
— 222, JJA S 20,000,000% * 14 20,000
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01 2Uioibl 5,000 5,040 A40
O B=He2Y ot 5,000,008 * 14 5,000
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01 T2l 40,000 46,884 6,884
O stH2&, 2ZK S 40,000,000 * 1A 40,000
SLHal AE 24 10,000 0 10,000
401 Al4HIL 20| 10,000 0 10,000
01 Al&| 10,000 0 10,000
O 2=Hel Ald 24 10,000,0008 * 14 10,000
HHSAAHI (MO LT A L) 3,100 3,000 10,100
ol 2| 4,200 3,000 1,200
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04 ENRYAREAY| 4,200 3,000 1,200
O 2N2Y g2=TY| 350,000 *122 4,200
plCE-T 8,900 0 8,900
=B /AL EEY 8,900 0 8,900
201 Yer2g| 8,400 0 8,400
01 AtR2elt| 6,000 0 6,000
O ersgtl| 6,000, 0002 6,000
02 IT2Y| 2,400 0 2,400
O 222 % Al 2,400, 0002 2,400
405 XtarF S| 500 0 500
01 RMUSEH S| 500 0 500
O M4 BS RFHSH) 500,000 500




